f¢

COSTWAY

EASY. SAVE MONEY

\

USER'S MANUAL

Pergola Steel Frame Gazebo
NP10096



M2—

At—

- N

o

L

] L2 =
S =

L2 H4

\AZ
H1—e
H2
H3 —
Lo =
=

M1—®




PARTS PCE PIECE QTY
Post 1 A1 : 2
Post 2 A | HF % 2
B1 \g‘ 2
connector bar =
cctor b | B2 e 2
connector bar Q
Straight ci q | 2
connector bar1 '
Straight — c}
connector bar2 Cc2 i 1 2
Side top I — i T
bar 1 D1 ~_T i 2
Side top : 5 ——
bar 2 D2 f —_ - 2
Middle top [ ; ===
bar 1 E1 E ; T 1
Middle top - )
bar 2 E2 ! 1 ~ L
Side top h =
bar 3 Fi N : 4
Side top e |
bar 4 F2 L~ 4
Fixed shade G1 _Am 2
rod
Activity shade G2 %///——\\m 4
rod 1
Activity shade
rod 2 G3 aﬂ 4
Upper shade H1 — _ . 2
rod 1
Upper shade
rod 2 H2 = < = 2
Lower shade H3 . . 2
rod 1
Lower shade Ha _ . 2

rod 2




PARTS PCE PIECE QTyY
Fabric shade | J1 @ 1
Protective 52 1
cover
Curtain | J3 @ 2
Magnet iron
plate K 1
Post base L1 4
cover
Post base L2 ‘ 4
Hook 1 M1 m 4
YD
Hook 2 M2 rﬂ 4
A
Plastic
wheel 1 N1 8
Plastic N2 % 4

wheel 2




PARTS | PCE PIECE QTY
Bolt AA () oo M6*15 48+1
Bolt BB @:m M6*18 8+1
Bolt cc Q)nmmm M6*35 10+1
Bolt DD (])mmmm M6*45 4+1
Bolt | EE M6*55 16+1
Bolt | FF | M6*65 10+1

Knob GG % ge1

Hex Wrench | HH N’ 2
Stake I [,:I 8+1




STEP 01

1
A A2
A1&A2
A
—r—
fr ] L1xa
H 1 [A2xe n

(um 615




STEP 02

= T
Rl 1
M2

A1 A2

M2 M1

—F— ——

(]hMM6*15 %




STEP 03

K x1

CXOMOX

p [Blx]

=
==

\,/—\

(o w6-15




STEP 04

(Jum 615




STEP 05

Note:Pay attention to the hole direction.The hole in
assembled right connector bar (B1) and left
connector bar (B2) must face the inside of the

(DI M6*65




STEP 06

)

)

X 2

~Om [Cho|

P
| |
AAx2

—




STEP 07

=

A1

(um M6*15
M6*65

‘ JDIIII

10



STEP 08

(Jum V615
(o 1665




STEP 09

E1

E2

E1

=

=

= .

2
(Jumm M6+15

12



STEP 10

SS:

=

=

() M6*65

13



STEP 11

X2

== P
: e

(Jum  M6+15

14



STEP 12

B2&B1

=

S

S =1

|

=

&

(S M6*55

15



STEP 13

= [P

(mm  Me*15

16



STEP 14

EE

F1&F2

(S=1

>

S:

&=

S=1

() omm  M6*55

17



STEP 15

J1x

G1x2

II

18



STEP 16

S=1

(D M6*35

19



STEP 17

= 2 x4
.///——\

fm M6*18

0o
o
x
©

20



STEP 18

~D1&D2

==

=]

L

S=

S=

/

(Jum  m6+15

21



STEP 19

H1 H2
// = //
H3 H4
C /// T /
=0
- =
- -
- '

22



STEP 20

23



STEP 21

ﬂl\ll

J3

J3

24



STEP 22

25



STEP 23

Step 23 supplemental instruction

IMPORTANT:

Before inserting the stakes, squaring the pergola frame is a very
important step to ensure easier assembly and proper

fitment of the parts. To do this, measure the distance between the
posts from the outside corners of each post as the

following:

A1to A2

These measurements should be the same. Adjust the posts if they
are not.

A1to A1, A2 to A2

These measurements should be the same. Adjust the posts if they
are not.

Once the measurements above are approximately the same, then
move on to insert the stakes into the ground.

3 149.21" %
05.51 105.51"
L A/

26



STEP 24

[é Stake II X8

27



RUSSIA
@

;JAPAN
L

\‘F“\

~

AUSTRALIA
®

With your inspiring rating, COSTWAY will be more consistent to offer you EASY
SHOPPING EXPERIENCE, GOOD PRODUCTS and EFFICIENT SERVICE!

Mit Ihrer inspirierenden Bewertung wird COSTWAY konsistenter sein, um Thnen
EIN SCHONES EINKAUFSERLEBNIS, GUTE PRODUKTE und EFFIZIENTEN
SERVICE zu bieten!

Avec votre évaluation inspirante, COSTWAY continuera a fournir une
EXPERIENCE D’ACHAT PRATIQUE, des PRODUITS DE QUALITE et un
SERVICE EFFICACE !

Con su calificacion inspiradora, COSTWAY sera mas consistente para ofrecerle
EXPERIENCIA DE COMPRA FACIL, BUENOS PRODUCTOS y SERVICIO
EFICIENTE.

Con la tua valutazione incoraggiante, COSTWAY sara piu coerente per offrirti
ESPERIENZA DI ACQUISTO FACILE, BUONI PRODOTTI e SERVIZIO
EFFICIENTE!

Dzigki twojej opinii COSTWAY bedzie méglt oferowaé jeszcze WYGODNIEJSZE
ZAKUPY, LEPSZE PRODUKTY i SPRAWNIEJSZA OBSLUGE KLIENTA.

US office: Fontana

UK office: Ipswich

DE office: FDS GmbH, Neuer Hoéltigbaum 36, 22143 Hamburg, Deutschland

FR office : 26 RUE DU VERTUQUET, 59960 NEUVILLE EN FERRAIN, FRANCE




